

### City of Aurora, IL

# Engineering

Kenneth Schroth, Director of Public Works/City Engineer
44 E Downer Place, Aurora, IL 60502

### **EVALUATION TABULATION**

GEN No. 25-155

## Beau Ridge North Water Main Improvements

RESPONSE DEADLINE: April 30, 2025 at 11:00 am Report Generated: Tuesday, May 6, 2025

#### **SELECTED VENDOR TOTALS**

Vendor	Total
Miller Pipeline LLC	\$3,173,802.50
Winninger Excavating, Inc.	\$3,317,885.50
Bluewater Construction, LLC	\$3,345,000.00
Performance Construction & Engineering, LLC	\$3,758,788.00
Martam Construction	\$3,986,125.00
H. Linden Sons Sewer and Water, Inc.	\$4,077,473.00

TABLE 1 (Table 1 of 2)

			Table 1				Construction, LLC		ons Sewer and er, Inc.	Martam C	Construction	Miller P	ipeline LLC		e Construction eering, LLC
Se	elected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	Х	1	Tree Root Pruning	100	LF	\$5.00	\$500.00	\$15.00	\$1,500.00	\$11.00	\$1,100.00	\$5.00	\$500.00	\$50.00	\$5,000.00

		Table 1				Construction, LLC		ons Sewer and er, Inc.	Martam (	Construction	Miller F	ipeline LLC		e Construction eering, LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	2	Select Granular Trench Backfill	5250	CY	\$0.01	\$52.50	\$52.00	\$273,000.00	\$49.00	\$257,250.00	\$1.00	\$5,250.00	\$10.00	\$52,500.00
X	3	Unsuitable Soil Removal and Replacement	100	CY	\$10.00	\$1,000.00	\$85.00	\$8,500.00	\$65.00	\$6,500.00	\$80.00	\$8,000.00	\$20.00	\$2,000.00
Х	4	Exploration Excavation, 6'	40	LF	\$10.00	\$400.00	\$1.00	\$40.00	\$90.00	\$3,600.00	\$90.00	\$3,600.00	\$50.00	\$2,000.00
Х	5	8" PVC C-900 Sanitary Sewer Removal and Replacement	21	LF	\$125.00	\$2,625.00	\$140.00	\$2,940.00	\$344.00	\$7,224.00	\$100.00	\$2,100.00	\$75.00	\$1,575.00
Х	6	10" PVC C- 900 Storm Sewer Removal & Replacement	21	LF	\$85.00	\$1,785.00	\$150.00	\$3,150.00	\$360.00	\$7,560.00	\$150.00	\$3,150.00	\$85.00	\$1,785.00
Х	7	12" PVC C- 900 Storm Sewer Removal & Replacement	231	LF	\$95.00	\$21,945.00	\$160.00	\$36,960.00	\$344.00	\$79,464.00	\$175.00	\$40,425.00	\$95.00	\$21,945.00
Х	8	42" PVC C- 900 Storm Sewer Removal & Replacement	50	LF	\$450.00	\$22,500.00	\$700.00	\$35,000.00	\$944.00	\$47,200.00	\$800.00	\$40,000.00	\$150.00	\$7,500.00

EVALUATION TABULATION undefined - Beau Ridge North Water Main Improvements Page 2

		Table 1				Construction, LLC		ons Sewer and er, Inc.	Martam C	Construction	Miller P	ipeline LLC		e Construction eering, LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	9	12" PVC C- 900 Water Main Casing	26	LF	\$85.00	\$2,210.00	\$188.00	\$4,888.00	\$221.00	\$5,746.00	\$200.00	\$5,200.00	\$70.00	\$1,820.00
Х	10	Restrained Joint Gasket, 8"	40	EA	\$10.00	\$400.00	\$200.00	\$8,000.00	\$320.00	\$12,800.00	\$165.00	\$6,600.00	\$165.00	\$6,600.00
X	11	Zinc Coated DIP WM, Cl 52, 8" w/V- bio Polywrap	5965	LF	\$175.00	\$1,043,875.00	\$153.00	\$912,645.00	\$148.00	\$882,820.00	\$150.00	\$894,750.00	\$185.00	\$1,103,525.00
X	12	Zinc Coated DIP WM, Cl 52, 12" w/V- bio Polywrap	10	LF	\$195.00	\$1,950.00	\$300.00	\$3,000.00	\$422.00	\$4,220.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00
Х	13	8" MJ Gate Valve in 48" Vault	15	EA	\$5,500.00	\$82,500.00	\$7,700.00	\$115,500.00	\$8,760.00	\$131,400.00	\$5,500.00	\$82,500.00	\$7,500.00	\$112,500.00
Х	14	Additional Fittings	1020	LB	\$0.01	\$10.20	\$1.00	\$1,020.00	\$8.00	\$8,160.00	\$8.50	\$8,670.00	\$1.00	\$1,020.00
Х	15	Valve Box to be Abandoned	15	EA	\$100.00	\$1,500.00	\$50.00	\$750.00	\$420.00	\$6,300.00	\$250.00	\$3,750.00	\$500.00	\$7,500.00
Х	16	Fire Hydrant Assembly Removal	10	EA	\$100.00	\$1,000.00	\$1,000.00	\$10,000.00	\$900.00	\$9,000.00	\$850.00	\$8,500.00	\$350.00	\$3,500.00
Х	17	Fire Hydrant Assembly	19	EA	\$9,750.00	\$185,250.00	\$9,000.00	\$171,000.00	\$10,800.00	\$205,200.00	\$9,000.00	\$171,000.00	\$9,500.00	\$180,500.00

		Table 1				Construction, LLC		ons Sewer and er, Inc.	Martam C	Construction	Miller P	ipeline LLC		e Construction eering, LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
х	18	Sanitary Sewer Service Removal and Replacement, 6"	710	LF	\$50.00	\$35,500.00	\$135.00	\$95,850.00	\$84.00	\$59,640.00	\$50.00	\$35,500.00	\$15.00	\$10,650.00
Х	19	Curb Stop and Box, 1"	135	EA	\$3,500.00	\$472,500.00	\$3,500.00	\$472,500.00	\$1,250.00	\$168,750.00	\$4,000.00	\$540,000.00	\$3,500.00	\$472,500.00
Х	20	Corporation Stop, 1"	135	EA	\$3,500.00	\$472,500.00	\$3,500.00	\$472,500.00	\$2,240.00	\$302,400.00	\$1,500.00	\$202,500.00	\$4,000.00	\$540,000.00
X	21	Trenchless Copper Water Service, 1"	8600	LF	\$15.00	\$129,000.00	\$21.00	\$180,600.00	\$20.00	\$172,000.00	\$10.00	\$86,000.00	\$11.00	\$94,600.00
X	22	Open Cut Copper Water Service, 1"	100	LF	\$10.00	\$1,000.00	\$52.00	\$5,200.00	\$41.00	\$4,100.00	\$50.00	\$5,000.00	\$11.00	\$1,100.00
Х	23	Interior Connection to Water Meter w/ Slab	76	EA	\$2,500.00	\$190,000.00	\$3,000.00	\$228,000.00	\$5,300.00	\$402,800.00	\$3,000.00	\$228,000.00	\$3,500.00	\$266,000.00
х	24	Interior Connection to Water Meter w/ Basement or Crawl Space	52	EA	\$2,500.00	\$130,000.00	\$2,000.00	\$104,000.00	\$6,320.00	\$328,640.00	\$3,000.00	\$156,000.00	\$3,000.00	\$156,000.00

		Table 1				Construction, LLC		ons Sewer and er, Inc.	Martam (	Construction	Miller P	ipeline LLC		Construction eering, LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	25	Pressure Connection in Vault, 8" (Hollycrest Ave & Sullivan Rd)	1	EA	\$7,500.00	\$7,500.00	\$6,000.00	\$6,000.00	\$12,680.00	\$12,680.00	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00
Х	26	Connect to Existing WM, 12" (Lincolnshire Av and Sullivan Rd)	1	EA	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$5,680.00	\$5,680.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00
Х	27	Disconnect and Abandon Existing Water Main Connection, 6"	1	EA	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$3,320.00	\$3,320.00	\$6,500.00	\$6,500.00	\$3,500.00	\$3,500.00
Х	28	Water Main Insulation	20	LF	\$10.00	\$200.00	\$10.00	\$200.00	\$98.00	\$1,960.00	\$15.00	\$300.00	\$50.00	\$1,000.00
Х	29	Water Main Lowering, 8"	40	LF	\$175.00	\$7,000.00	\$153.00	\$6,120.00	\$410.00	\$16,400.00	\$150.00	\$6,000.00	\$220.00	\$8,800.00
Х	30	Temporary Pavement, 2"	30	SY	\$10.00	\$300.00	\$41.00	\$1,230.00	\$52.00	\$1,560.00	\$30.00	\$900.00	\$55.00	\$1,650.00
Х	31	Class D Patching, 5" Binder & 1.5" Surface	5350	SY	\$47.00	\$251,450.00	\$62.00	\$331,700.00	\$81.00	\$433,350.00	\$57.25	\$306,287.50	\$50.00	\$267,500.00

		Table 1				Construction, LC		ons Sewer and er, Inc.	Martam C	onstruction	Miller P	ipeline LLC		Construction ering, LLC
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	32	Combination PCC Curb and Gutter Removal and Replacement	200	LF	\$65.00	\$13,000.00	\$65.00	\$13,000.00	\$64.00	\$12,800.00	\$75.00	\$15,000.00	\$60.00	\$12,000.00
Х	33	PCC Sidewalk Rem. and Replace, 5"	510	SF	\$15.00	\$7,650.00	\$15.00	\$7,650.00	\$18.00	\$9,180.00	\$13.00	\$6,630.00	\$15.00	\$7,650.00
Х	34	Detectable Warnings	10	SF	\$40.00	\$400.00	\$49.00	\$490.00	\$51.00	\$510.00	\$30.00	\$300.00	\$40.00	\$400.00
X	35	PCC Drive Approach Removal & Replacement, 6", Residential	191	SY	\$135.00	\$25,785.00	\$120.00	\$22,920.00	\$141.00	\$26,931.00	\$160.00	\$30,560.00	\$125.00	\$23,875.00
Х	36	Seeding - Aurora Mix	1140	SY	\$15.00	\$17,100.00	\$20.00	\$22,800.00	\$12.00	\$13,680.00	\$35.00	\$39,900.00	\$15.00	\$17,100.00
X	37	Traffic Control and Protection	1	LS	\$50,000.00	\$50,000.00	\$338,000.00	\$338,000.00	\$160,000.00	\$160,000.00	\$35,000.00	\$35,000.00	\$175,093.00	\$175,093.00
Х	38	Inlet Protection	20	EA	\$25.00	\$500.00	\$180.00	\$3,600.00	\$320.00	\$6,400.00	\$150.00	\$3,000.00	\$200.00	\$4,000.00
Х	39	Dewatering Bag	2	EA	\$31.15	\$62.30	\$10.00	\$20.00	\$650.00	\$1,300.00	\$215.00	\$430.00	\$300.00	\$600.00
Х	40	Temporary Staging	100	CY	\$0.50	\$50.00	\$10.00	\$1,000.00	\$33.00	\$3,300.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00

		Table 1			Bluewater Construction, LLC		H. Linden Sons Sewer and Water, Inc.		Martam Construction		Miller Pipeline LLC		Performance Construction & Engineering, LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	41	Non-Special Waste Disposal	100	TON	\$20.00	\$2,000.00	\$51.00	\$5,100.00	\$66.00	\$6,600.00	\$75.00	\$7,500.00	\$30.00	\$3,000.00
X	42	Non-Special Waste Disposal	100	TON	\$20.00	\$2,000.00	\$51.00	\$5,100.00	\$66.00	\$6,600.00	\$75.00	\$7,500.00	\$30.00	\$3,000.00
Total	'					\$3,195,000.00		\$3,927,473.00		\$3,836,125.00		\$3,023,802.50		\$3,608,788.00

TABLE 1 (Table 2 of 2)

		Table 1			Winninger E	xcavating, Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
X	1	Tree Root Pruning	100	LF	\$15.00	\$1,500.00
X	2	Select Granular Trench Backfill	5250	CY	\$20.00	\$105,000.00
X	3	Unsuitable Soil Removal and Replacement	100	CY	\$45.00	\$4,500.00
Х	4	Exploration Excavation, 6'	40	LF	\$100.00	\$4,000.00
Х	5	8" PVC C-900 Sanitary Sewer Removal and Replacement	21	LF	\$250.00	\$5,250.00
Х	6	10" PVC C-900 Storm Sewer Removal & Replacement	21	LF	\$125.00	\$2,625.00
X	7	12" PVC C-900 Storm Sewer Removal & Replacement	231	LF	\$180.00	\$41,580.00
X	8	42" PVC C-900 Storm Sewer Removal & Replacement	50	LF	\$450.00	\$22,500.00

		Table 1			Winninger E	excavating, Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	9	12" PVC C-900 Water Main Casing	26	LF	\$65.00	\$1,690.00
Х	10	Restrained Joint Gasket, 8"	40	EA	\$180.00	\$7,200.00
Х	11	Zinc Coated DIP WM, Cl 52, 8" w/V-bio Polywrap	5965	LF	\$174.00	\$1,037,910.00
Х	12	Zinc Coated DIP WM, Cl 52, 12" w/V-bio Polywrap	10	LF	\$250.00	\$2,500.00
Х	13	8" MJ Gate Valve in 48" Vault	15	EA	\$6,500.00	\$97,500.00
Х	14	Additional Fittings	1020	LB	\$0.01	\$10.20
Х	15	Valve Box to be Abandoned	15	EA	\$150.00	\$2,250.00
Х	16	Fire Hydrant Assembly Removal	10	EA	\$850.00	\$8,500.00
Х	17	Fire Hydrant Assembly	19	EA	\$12,500.00	\$237,500.00
Х	18	Sanitary Sewer Service Removal and Replacement, 6"	710	LF	\$50.00	\$35,500.00
Х	19	Curb Stop and Box, 1"	135	EA	\$450.00	\$60,750.00
Х	20	Corporation Stop, 1"	135	EA	\$2,500.00	\$337,500.00
Х	21	Trenchless Copper Water Service, 1"	8600	LF	\$25.00	\$215,000.00
Х	22	Open Cut Copper Water Service, 1"	100	LF	\$100.00	\$10,000.00
Х	23	Interior Connection to Water Meter w/ Slab	76	EA	\$2,500.00	\$190,000.00
X	24	Interior Connection to Water Meter w/ Basement or Crawl Space	52	EA	\$3,000.00	\$156,000.00

EVALUATION TABULATION undefined - Beau Ridge North Water Main Improvements Page 8

		Table 1			Winninger Ex	cavating, Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	25	Pressure Connection in Vault, 8" (Hollycrest Ave & Sullivan Rd)	1	EA	\$19,000.00	\$19,000.00
X	26	Connect to Existing WM, 12" (Lincolnshire Av and Sullivan Rd)	1	EA	\$8,000.00	\$8,000.00
Х	27	Disconnect and Abandon Existing Water Main Connection, 6"	1	EA	\$4,000.00	\$4,000.00
X	28	Water Main Insulation	20	LF	\$50.00	\$1,000.00
X	29	Water Main Lowering, 8"	40	LF	\$350.00	\$14,000.00
X	30	Temporary Pavement, 2"	30	SY	\$0.01	\$0.30
Х	31	Class D Patching, 5" Binder & 1.5" Surface	5350	SY	\$45.00	\$240,750.00
Х	32	Combination PCC Curb and Gutter Removal and Replacement	200	LF	\$85.00	\$17,000.00
Х	33	PCC Sidewalk Rem. and Replace, 5"	510	SF	\$15.00	\$7,650.00
Х	34	Detectable Warnings	10	SF	\$50.00	\$500.00
X	35	PCC Drive Approach Removal & Replacement, 6", Residential	191	SY	\$120.00	\$22,920.00
X	36	Seeding - Aurora Mix	1140	SY	\$20.00	\$22,800.00
Х	37	Traffic Control and Protection	1	LS	\$190,000.00	\$190,000.00
X	38	Inlet Protection	20	EA	\$250.00	\$5,000.00
X	39	Dewatering Bag	2	EA	\$500.00	\$1,000.00
X	40	Temporary Staging	100	CY	\$75.00	\$7,500.00

EVALUATION TABULATION undefined - Beau Ridge North Water Main Improvements Page 9

		Table 1			Winninger E	xcavating, Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	41	Non-Special Waste Disposal	100	TON	\$100.00	\$10,000.00
X	42	Non-Special Waste Disposal	100	TON	\$100.00	\$10,000.00
Total						\$3,167,885.50

### TABLE 2 (Table 1 of 2)

Table 2				Bluewater Construction, LLC		H. Linden Sons Sewer and Water, Inc.		Martam Construction		Miller Pipeline LLC		Performance Construction & Engineering, LLC		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	43	Items Ordered by Engineer	1	ALLOWANCE	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
Total					\$150,000.00		\$150,000.00		\$150,000.00		\$150,000.00		\$150,000.00	

### TABLE 2 (Table 2 of 2)

	Winninger Excavating, Inc.					
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	43	Items Ordered by Engineer	1	ALLOWANCE	\$150,000.00	\$150,000.00
Total						\$150,000.00